B K4 B EH T8 A Ik KR D2 @Fﬁéﬁu4fﬁ12ﬂ 5 H »bH
- T AmosfE 471 1TH ET
AN FE ET w1 ES
[YON
F7= 2 Fh X M
(K4 - FliE4) ) (G )] N 436, 250
M KR B T 57, 461
A ASHE BT 0D 22 RIS 500, 000 LHESGE 15, 600
JEE LI 1, 000, 000 LR ¢ 5, 351
HEAREEZES 57, 462 YSGiE ¢ 12, 700
F{I il 2 460, 822
N ¢ 491, 100
R 1,921
Bkt 188, 416
%S5k
HEE 193, 234
= DD % bt i
Z DA DU 500, 000
A alE 2,057, 462 A alF 1, 862, 855
GRS GG
woE 2,057, 462 woE 1, 862, 855
TH H SH
SHID 5 b AT LA %4 £7 DAk 61, 84011
R A B —DIVERR 247, 500}
i 309, 340[T]

s EZHER A A FNbHE4H 24 B Ho1 [EEE4




Al K4 FHE & B ER RS KERHERT O - Af 4 4 12 8 5 H 6
B} /H%$D5$4H26Eli“6‘
AR T RS Rt % o [y
1A
72 D % X H !
(K4 - HiR4) (% %) (& %) NG ¢ B
M FBE RS AT
LA
BIEE
AR
Rl 2
S 2
SR
g
KiA#
M 313
Z DAth D E it 1
D DOYA
iRy 0 A alE 313
AilElE 2,057, 462 E{EI 1, 862, 855
woOEt 2, 057, 462 woE 1, 863, 168
15 H &HE
LD 5 b AR B Y5 £ 7 DIFk 61, 8401
R A2 —DVERR 247, 5004
B 309, 340
s EZHER A SFN54E4 H 26 H H2 [ 4




At K4 FHE & IR KERHERT O - A 4 F 12 8 5 B b
B} /H%ESESHIOEiT“
AR T RS Rt & 3 [
1A
72 D % X !
(K4 - HiR4) I %) (& %) NG ¢ B
M FBE RS AT
LA
BIEE 3, 407
AR
Rl 2
S 2
SR
g
KiA#
M 4,876
Z DAth D E it 1
ZDOMOILA
iRy 0 A alE 8, 283
AilElE 2,057, 462 E{EI 1, 863, 168
woOEt 2, 057, 462 woE 1,871, 451
15 H &HE
LD 5 b AR B Y5 £ 7 DIFk 61, 8401
R A2 —DVERR 247, 5004
B 309, 340
s EZHER A 545 H 10 H ®3 [EEE4




i K4 B & BRI KERMERT O Af 4 4 12 8 5 H 6
gitj |
S 5 4 6 A 12 H £T
AR HBE ET w4
A
75 %kt X H M
(K4 - HiK4) I %) (& %) N2
M E3 ¢ RS AT
EEELE
BIEE
A2
Pl 2
I = g
SR
KiA#
M 3,349
Z DD E It 14
Z O DIA
A 1Al 0 NEI 3, 349
B 2,057, 462 EilE 1,871, 451
woF 2, 057, 462 W F 1, 874, 800
5 H &FE
STHID 5 /AT B M £ 7 Dk 61, 84011
R A K —DVERY 247, 5001
#t 309, 3401
W EZHAEAH SFnbiE6 H 12 ° W4 (ARG 4y




i K4 B & BRI KERMERT O Af 4 4 12 8 5 H 6
gitj |
S 5 4 6 A 260 H ET
AR HBE ET % 5 E4
A
75 %kt X H M
(K4 - HiK4) I %) (& %) N2
M E3 ¢ RS AT
EEELE
BIEE
A2
Pl 2
I = g
SR
KiA#
M 833
Z DD E It 14
Z O DIA
A 1Al 0 NEI 833
B 2,057, 462 EilE 1, 874, 800
woF 2, 057, 462 W F 1, 875, 633
5 H &FE
STHID 5 /AT B M £ 7 Dk 61, 84011
R A K —DVERY 247, 5001
#t 309, 3401
W EZHAEAH 4 Fnb4E6 H 26 B 5 [AlRAE 4y




i K4 R & T )& S Uk BN 0 S5 £ 2 H 11 H b
7 H
‘ af 5 £ 4 A 150 T
H B AiE 3T w1 [Esy
A
7= 2 M X M
(R4 - HiE4) (% ) (& %) N
M B AR TR 59, 400
H AL PE TR IX 2 B 2> 571, 480 HESYE 3, 000
WEE
A8
FI k| 852, 930
SRS 229, 900
SCH A
oy 10, 000
IAS(EE ¢
HEEY
Z Ot Dkt (G
ZDDOULA
A a3 571, 480 A [a)E 1, 155, 230
i EE G
Bk 571, 480 woF 1, 155, 230
T H &FH
SHID 5 /AT B4 48 £ 7 DIFRK 61, 840F1)
R AL —DIVERK 482, 3101
il 544, 1504

e EXHEA R

S5FE4A19H

B [l

%




et K4 wEkRr = BRI EREEIEE A S5 4 2 H 23 H b
A
N SFf 5 £ 4 A 19H £T
HIE TS iR B % 1 [Esy
A
725 HMt ZH M
(K4 - HiE4) (& % (& #) NG 1, 710, 000
M FEE S ST 227, 482
H R ER KRS E A2 300, 000 LA 70, 000
et BT ER=eS 15, 000 EEE
ER BE ER=eS 135, 000 gty 45, 000
R BE ERCeS 90, 000 FlI 2 627, 352
PhE BT s—h 90, 000 SRS 45, 000
WA Soik T 90, 000 SCHEAE
(LS HER 90, 000 AR 233, 000
[if) £ /X— | 90, 000 S(EE=¢
il ESPS AT 90, 000 MEH
A Fosg eIk 90, 000
HE AE HER 90, 000
ER FiR eIk 90, 000
BE B HER 90, 000
IR BB eIk 50, 000
fEhM  BET /X— |k 40, 000
VERIIE =t 45, 000
Z DAth D FF bt 4 16, 000
Z DDA 4, 000, 000
A Bl 5,501, 000 A Al 2,957, 834
miiElE HiiElE
woF 5, 501, 000 w3 2,957, 834
H H p S|
KD 5 B AT R £ 7 OIEk 61, 840H
A A L —DIVERR 417,012/
it 478, 852/
AEEZFEAH STN54E4H 24 A 1 [EERE4s




ot K4 M BEEAR KBHERT D2 A5 1 H 16 H b
b
‘ SFf 5 £ 4 A 8 H T
HA BT HEH EET % 1 ESy
A
725 Eb X M
(K4 - HA4) (& %) (& %) NG
M FRE FEEITE 22, 355
HAHERT D= KRERF# S 500, 000 Lp gk
TT 72w ABES 241, 200 e 2,503
A 90, 000
FI1 il 2 931, 080
TS 293, 740
LR
ras 129, 563
SISk 10, 000
MEE 7, 300
FOMOEN 21 #4 59, 631
Z D DI
Nl 800, 831 A [alEt 1, 486, 541
EIEG EIE
S 800, 831 B 1, 486, 541
5 H A
LD 5 B AT £ 7 Dk 61, 600F]
R A B —DVERR 777, 480
&t 839, 080
WEEZHAAA SbME4H 24 H ®1 [EERE




et K4 A g BIEERIR HHRER - S5 4 2 A 23 H M~
7 H
o B Sf 5 4 4 H 21 B £T
AT (S ANE=x %1 Esy
XA
F72 2 F X M
(K4 - HiR4) (% %) (& %) NG 405, 000
M I BT 230, 722
EREENENE NS = PE RS 300, 000 EEDYHE 49, 500
ERESY NG = IE 30, 000 HEE
[lERT:E I vy e = 300, 000 RTiE-¢
FhE BN ETE 20, 000 ENHlIE= 1, 032, 084
S ZET IR 20, 000 I 970, 750
B B3 KBBR8 7388 25 X 3G 100, 000 SR 24,138
Brat 162, 028
OSIEE=
M 6, 865
ZOMOFEM 43 £ 329, 000
Z D DU 3, 000, 000
A FEIEE 4,099, 000 A [alF 2,881, 087
AiElE AilElG
o E 4,099, 000 woF 2, 881, 087
T H S
THO S HAE YA v 7 OERKL 61, 8401
A X —DIVER, 744, 744
806, 5844
WEEZHEHH S FI54E4 A 24 H 1 [ElESy




At K4 /NP i BEEAR NI s ASFn 5 F 3 A 7T H b
7 H
\ afs 4 198 T
AN BT B’ IEE ® 1 [Esy
XA
F£7- 5 Ek X M
(R4 - HER4) (& %) (& %) N -
M K=t ARG ITE 584, 599
NG ERTR S 1,288, 714 EESLE 5,500
B
B 7, 960
Sk 551, 798
= ¢ 658, 392
Pk -y 32,534
T 387, 459
(OSIEE=¢
M 105, 591
Z Ot DBt 14
Z DO DUA 741, 000
A [alEt 2,029, 714 A et 2, 333,833
BiEE AiElEE
i EF 2,029, 714 woF 2,333, 833
H H SFE
S 5 AT B 2 4 — Ll
R A Z—DVERR 302, 165
364, 005/
W ESZHEAA SF5FE4 20 H 1 [R5y




B A A4 JNEF i )& S Uk N .- ASf 544 3 A 7T H »H
7 H
\ w5 5 9 R ET
PN
T 72 % At X H M
(KA - BlE4) (& ) (& %) NG
M EdN - BERHEG R
e ey E
HEE
AR IEE
FI 1l 2
IS
S HE
Bt
7S (EE
HEEY 7,066
Z O D FFRf 1 7, 066
ZDOORN
A [ElEt 7,066 NG 7,066
AifElE 2,029, 714 EUICIE 2,333, 833
woEt 2, 036, 780 woRk 2, 340, 899
TH H SH
S 5 AT B 2 4 — Ll
™A —DVERR 302, 165H
it 364, 005H
WEEZIHEA A SRS H9H %2 [ERES




et K4 VAN S iR EEERIR N GETH .- AFf 5 4 3 A 7T H b
7 H
\ a5 5 30 R T
AN BT B’ IEE % 3 EL
A
F£7- 5 Ek X M
(R4 - HER4) (& %) (& %) N -
M K=t ARG ITE 19, 773
N SRR S 27, 359 EERGE
B 7, 586
A2
Sk
TN
CHEA
T
RiA
M
Z Ot DBt 14
Z DDA
A [a]F 27, 359 A El g 27, 359
BiEE 2,036, 780 EIEES 2, 340, 899
i EF 2,064, 139 o EF 2, 368, 258
TH H SFA
S 5 AT B 2 4 — Ll
R A Z—DVERR 302, 165
gt 364, 005

W ESZHEAA 545 H31H 3 [EREL




et K4 (Ll St BRI K BSHE T D 2 Sf 5 £ 2 H 15 H b
A
o SF 5 4 4 A 22 H £T
RREEN=gRE= KE HF w1 [Esy
A
725 HMt 3 HA M
(K4 - HiE4) (& % (& #) NG 150, 000
M FEE S ST 473, 000
LA
BIEE 2, 040
gty 44, 630
Fl % 1, 524, 600
IR 156, 560
SCHEAE 41,016
wEE 24, 955
IRYAE
Mt 81, 319
Z OO F 14
Z DDA 2, 600, 000
G 2, 600, 000 A lalgt 2,498, 120
HiflElE ARG
woFk 2, 600, 000 w3 2,498, 120
" H |
LD 5 5 AT S 2 £ 7 DIER 61, 600F
RAZ—DVERR 834, 024H
it 895, 6241

SFI54E4H 24 H

1 [EERESD




i K4 Ak [l BEERIR Nk 0 AF 5 4 2 H 21 B »b
v H
Sf 5 % 4 H 10H T
H B K¥y i w1 [
A
7= 2 M X M
(K4 - HE4) (% ) (& %) N
M B AR TR 424, 890
NETR: Sanl 1, 888, 215 LHERGE 92, 400
WEE
A8
FI k| 551, 798
TR 527, 467
X EE 27, 540
oy 416, 546
IRVAE
HEEY 161, 059
Z Ot Dkt (G
ZDDOULA
A EIEE 1,888, 215 EEI 2,201, 700
i EE G
woE 1,888,215 woF 2,201, 700
T H &FH
IO 5 B 2B LTS A £ DFR 61, 84014
R AL —DIVERK 302, 165H
il 364, 005

A EZ AN H S5E4H 24 A w1 [EEESY




ot & K4 ek Wl AT I 5 Ik NG S5 F 2 A 21 H 26
|
S5 £ 5 A 30H T
HAE AT KE s o [m
PN
F 72 5 FE X H M
(K4 - [E4) (B %) (& %) N
M FEE WA 2,008
(e ¢
WIEE
A B
FI1 il 2
TS
CHE
IOSIEE ¢
Mty
Z DA D R 1 2,008
Z DDA
A [alE 2,008 NI 2,008
EIES 1, 888, 215 HiflElE 2,201, 700
o Ft 1, 890, 223 woF 2,203, 708
TH H AR
KD 5 5 AR S % £ 7 DfFk 61, 84014
R 2 X —DVER 302, 165
it 364, 005
W EZ AR H SF5FE6A5H %2 [BEREY




ot K4 A K BEEAR KBHERT D2 . A5 1 H 16 H b
Va H.
L P af 5 £ 4 A 190 T
tHfV‘]EﬁE%L :IEF‘ YH{EF % 1 @%
A
7= B LM X M
(K4 - HAA) (& 3£) (& %) NG 180, 000
M FEH ARG 133, 000
H ASHERT D 2 KB #8350 500, 000 LAY
b s ELI 133, 000 BIEE
A DT Ak 90, 000 L ¢
A LET o= 90, 000 FI1 il 2 1, 026, 666
TS 101, 480
CE#E
rae 108, 000
(ZNIEE¢
MEE 17,706
Z OO FF (55
FOMOUTA 1, 000, 000
A [alE 1, 813, 000 A [alEt 1, 566, 852
EIES EIEG
B F 1, 813, 000 B 1, 566, 852
5 H &FA
TID 5 AT B 4 £ 7 DERk 60, 0009
R A X —DIVERK, 800, 9161
it 860, 916/
WEESHAEA A SFI5EE4H 21 H #o1 EERES




ot & K4 BRSO OK— AT I 3 Uk KBHERT D2 S5 £ 1 A 16 H 256
|
S5 4 A 28 H T
HAE AT A K w0 @
PN
7= 2 %kt X H M
(K4 - [E4) (& 26 (& %) N
M FEE R B EpE
(e ¢
WIEE
A B
FI1 il 2
SRS
CHE
K%
Mty 2, 839
Z DA D F 4
Z D DOILA
A [alE 0 NI 2, 839
miElIEt 1, 813, 000 HiflElE 1, 566, 852
o Ft 1, 813, 000 B F 1, 569, 691
IH H AR
LD 5 AT AR SR £ 7 DA 60, 0004
R A X —DIERK 800, 9164
#t 860, 916
W EZ AR H SRS A 2H 2 A&y




Bt K4 W & T I 3 Uk MR, " Fﬁ%fﬂ 5 4 1 H 23 H b
Y El
s a5 fE 4 A 14 R £T
A
725 Hb X !
(K4 - Hik4) (& 3£) (& %) NG 233, 388
M K=t ARG 167, 490
SURLEEEECHE 1,301, 185 HEOLEE 21, 000
SR
YRk
EHiE=¢ 1,027, 684
JRE T 11, 400
A
g 210, 400
SIEE -4
My
ZF O D ZB Gs
Z DDA
A [alE 1,301, 185 A [alE 1,671, 362
el HilElF
i EF 1,301, 185 Bz 1,671,362
H H Ex |
LD 5 B AT 4 £ 7 Dk 61, 8401
R A2 —DVERR 744, 744
&t 806, 584

e EXHEA R

A FN54E4H 24 H %1 [EEHES




ot K4 HE & BRI MR, » Fﬁ%fﬂ 5 &£ 1 H 23 3 76
3 =]
‘ Sf 5 £ 4 H 21 H T
HA BT wWE T w9 [Elsy
A
725 Hb X !
(K4 - HliE4) (& 2£) & %) N
M Ed=X ARG
HEARLE
BEHE
A E
EHiE=¢
JRE T 373, 200
T E#H
g
(SIEE=¢
T 19, 886
Z DA, D> Z s
Z D DI
A [alE 0 A [alEt 393, 086
EilEI Gy 1,301, 185 EiEE 1,671, 362
o 1, 301, 185 3 2, 064, 448
H H s
FHD 5 5 AT B S €7 Pk 61, 840H
R A B —DVERR 744, 744
&t 806, 584
W EZ AR H SFN5HE4H27TH H2 [EIHES




ot K4 HE & BRI MR, » FEJ%%H 54 1 H 238 »b
3 =]
‘ Sf 5 £ 5 H 5 B £T
HA BT wWE T w3 [Esy
A
725 Hb X !
(K4 - HliE4) (& 2£) & %) N
M Ed=X ARG
HEARLE
BEHE 23,326
A E
EHiE=¢
= ¢
T E#H
g
(ZSIEE4
MR
Z DA, D> Z s
Z D DI
A [alE 0 A el E 23,326
EilEI Gy 1,301, 185 EiEE 2,064, 448
o 1, 301, 185 3 2,087,774
IH H LBE
FHD 5 5 AT B S €7 Pk 61, 840H
R A B —DVERR 744, 744
&t 806, 584
WEEZHEAA SF54E5 A8 H %3 [ElHRE Y




ot K4 HE & BRI MR, » Fﬁ%fﬂ 5 4 1 H 23 H »b
3 =]
‘ S 5 £ 5 H 228 £T
HA BT HE PR w4 a5y
A
7= B LM X !
(K4 - HliE4) (& 2£) & %) N
M Ed=X ARG
HEARLE
WEH 19, 995
A E
EHiE=¢
= ¢
T E#H
R
(SIEE=¢
MR
Z DA, D> Z s
Z D DI
A [alE 0 A [alEt 19, 995
HilEl Gt 1,301, 185 HiTEE 2,087,774
o 1, 301, 185 3 2,107,769
IH H &5
LD 5 AT AR SR €7 Pk 61, 840H
R A B —DVERR 744, 744
it 806, 584

HEA A

A FN54ES5 H 22 H B4 [EERE

N
7




